1 (Sem—4) PHI 3

2025

PHILOSOPHY
Paper : PHIO400304
( Traditional Logic )

Full Marks : 60
Time : 2% hours

The figures in the margin indicate full marks
for the questions

1. Answer the following as directed : 1x8=8
fch el fcare Tz Tes fia :

(a) “Logic is the study of the methods and
principles used to distinguish correct
from incorrect reasoning.” Who made
the statement?

‘o IET rum IET [T AT Fleale G
T AN WF AR SR e 1”7
FYER (I (FRa 2

(b) “Valid reasoning guarantees a true
conclusion.” Is the statement true or

false?
“rqy e @bl oy Praed smifs fucw
FYER 9 (1 SPT9] ?
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Name the propositions where predicate
term is undistributed.

CR IoPTyza T B ' Rew =mes e
EUE

“The subject term of a premise will be
the predicate term of the conclusion.”
This is a rule of obversion/conversion.

( Choose the correct answer )
COIAREbT ST W Brama R ow
2’1" G3h! Af TS /SRdR o |

( 5% Taaiu1 I Sy )

In which figure of syllogism the middle

term is the subject term in both the
premises?

TR RO RERS @ D
SIS S A7 27 9

DARAPTI/DATISI/DIMARIS/DARII is a
valid mood of which figure of syllogism?

( Choose the correct answer )

DARAPTI/DATISI/DIMARIS /DARII =54
(RTTCHT R C34 f% 2

( = Teacr s Sferear )

( Continued )

(9)

()

(3)

In which ordered enthymeme both
premises are stated, but the conclusion

is left unexpressed?

@S T G AES D SR
Seafe =, g P sewifis o2 410 ?

Dilemma can be simple/complex/both
simple and complex.

( Choose the correct answer )

o Tt/ fbe /e W Wioe qeAel 2°9

Ac |
(o= Teach A e )

2. Answer any six of the following questions :

OO

(a)

(b)
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2x6=12

o erspigEd R e =hE Ted for

What are the two conditions of a sound

argument?

‘qﬁxﬂ?(sound)’iﬁ‘ﬂﬁ.\é@%ﬁs?

State two differences between material
truth and formal truth.

IS orel HE RS TOS[ JEro 4l
51 “A1e(Fy o1 |
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(@)

(e)

(9)

(h)
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What is meant by ‘opposition’ in
Aristotle’s Square of Opposition?
AR'oR Reaepe wofrras ‘Reay’ e &
T@m ? ‘

Define syllogism.

I ige o |

How is ‘mood’ of a syllogism

determined?

T GfoF R’ @emE gk 1 21 2

State any two differences between

immediate inference and mediate
inference,

SHKE S W i
R T 51 =Mrefes foray |

oo 4P

Why is logic considered as a normative
science and not as g positive science?

SRS o o1 R, s RS
ootz &y o

State briefly the nature of the structure
of argument.

Wm‘%ﬂ“ﬂﬁ@@ﬁml

( Continued )

(S)

5x4=20

(i Define obversion.
AfSasaa sigel fud |
() What is the literal meaning of ‘Sorite’?
‘Sorite’3 wrERe Y & 2
3. Answer any four of the following questions :
were fir eppigEd R @ oiferR e for
(a) How does an argument differ from

(b)

(c)

(d)
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an argument form? Explain.
& GO T AR *R/N @S 43T 7 IR
fergn |

Explain the differences between
deductive inference and inductive
inference.

o SR S S SR A A

NFPIR 0 |

Write a short note on distribution of

Terms.

o el e b Y BT o

What are the four kinds of Categorical
Propositions? Explain.
51 oEa facers o & 2 0 1010
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(e) Mention the rules of syllogism and their
associated fallacies.

T R Sy F9 e $RERR e
wf%© (2 991 (TR (fallacy)d 719 frsi |

() What is Venn diagram? How are A, E,
I and O propositions represented by
means of Venn diagram?

e o 2 A, E, I SF O o599 (o1 B
SRS (Feed Aty 91 79 2

(g) Write a short note on Sorites.

PRI (Sorites) Ieic «fb 57 G fort |

(h) What are the kinds of hypothetical
syllogism? Explain.
ARl facers TR a6 /o gz
o= |

Answer any two of the following questions :
10x2=20

weTe frl enpTed R (I o T forer

(a) How are truth and validity related to
each other? Discuss.

Sorel G (A4O] AT PO ([FCTA Giew
2 AT ? el T4 |

{ Continued )

(®)

(©

(@)
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Explain the different forms of Opposition
of Propositions.

IHe1 fcarfaer Rfen eeR s=oc amm 941 |

Test the validity of the following
syllogisms with the help of Venn
diagram : 5+5=10
(eq fome “REE wee RN
(syllogism) (3% (7 7
(i) All cows are grass eaters.

Some wild animals are grass eaters.

Therefore, some wild animals are

COWwS.

S A T GCSI] |

{7 o = g |

oifecs, g e &g 2 oF |

(i) No humans are cats.
All humans are mammals.
Therefore, no cats are mammals.

GGl TR 7= (A |

SRECEl o2 = FUI |

sifece, T R 7= T |
Explain Venn diagrammatic technique
for testing the validity of syllogism.
o o e WA CAel @ et
TR <R, ofX “rafecs! I+ |
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() What is Dilemma? How is Dilemma
classified? Illustrate. 2+8=10

SO 2 FHIRS (TR IR F4
=y 7 AR SICABA 41 |
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